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Sale sece Pt of & ComPany in £i55tYeon - §F3osg185

o nest Yeay opereased
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huﬁc‘i"ﬁt“c& 5 = 2a\00

cuy)y 5396 0.
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The digit abt hundxeds place 1s7, Wi ch 1S grea
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The digit at hundned ¢ place, Which T¢ Freatey

bhoan 5.
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Estimaling the neasest ¥ENS,
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€Stimated dif feence = 108 130

L4 & oo
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dﬂ?e
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643 Yoo
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¢y 290 +171A86.

caotimabnd pof the mumbe 5290 necaeslk to i(tx

Sseatest place i-e bne biousands place = Ecoo
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axeast place; +€ bhe ten thoud gndy Place

= Ro,00c

- SuwW™ = 5000 +20000

T ZSs000.

City) peasest €sbtimate of 196 bu ANE a bew, b
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neosest €stivnate of 214 Ly Iveatest Place -3q,
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ra.
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